YC[DJQW
@

@ DaHE
2715 : KA HILfR
D : XA LHEA

Q@ FHLiA
12 @ A2IE LHZE 12mm
16 : AZIH LHZ 16mm
20 : AlZIH iE 20mm
25 AlZIH LE 25mm
32 @ AZIE LA 32mm
40 : A2IH LHZ 40mm
50 : AZIH LiZ 50mm
63

80

|
@

2A[[12]-[ 25 {DMJ[A94KJ

® @ & © ©

@ AMZIr| #ZE AE23
W : @12, 316
-5, 10, 15, 20, 25, 30
iZ : @20, @25
—5,10, 15, 20, 25, 30, 35, 40, 45, 50
LA : @32, @40, 350, @63, @80, 3100
-5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

® LIARIEN

D: 2 Qi

DM : 2E LA}
® LEAIX|

AIK : QEASIX| St
@ REALR| F7|2

7|5 : 22h2Et

© A2IE LE 63mm S 17 A
: &= LiE 80mm N @ N7H 24
100 : Al2IH LHZA 100mm
¢ QEAQX| EH & 7|ErHY H|Zf
=H 557 Hotet AL 2F AL 2 =]k
D-A4K Nk Ycoaw HITF 3 AmolME 2!
o JZHE
AN DC5~AC230V
- ES 3 ofl) YCDQW2A 40-55 DM—-AQ4K
e RN - 75AER3 BEE0 AH0IM 20mm A

% QEAIX| 2H|E : D-AK : 1M, D-A94K-L3 : 3M, D-AK-L5 : 5M

150 YPC



=

3 oloj¥=g

zs-92= YC(D)QW

¢ M =AY

=5 y=c

SV H g A

. EpSUNRSZel =] 0.05Mpa(0.5 kgf/cm?)
A TAFRQE 1.0Mpa(10 kgf/cm?)
HELIH 1.5Mpa(15 kgffcm?)
M =
INESIEPS M
A2 DAE & 50 ~ 750 mm/s

79| 9 ARl 2

5~ 60°C (41~ 140°F)

0 O
=

oo (
T g T

TFAL IS0 VG324)

.
e
ru
iri]
=
4
4
P

=sozc

HH
HM

Xt HILE

X UE

L

— @

= = =
* 1ERE * USRS I{ZME
S S22y XHE! H|o s 72 =H A

@ gy U20lE &2 HE U20o0|E @ @12 Az YCQW-12-PS

|y orZ|s st=2 74X Of
@ 2E 74 2=0ls 3 32 g=oioie o) 016 Alicy YCQW-16-PS
© =4
- (©) @20 A2l YCQW—20-PS

@ O-Ring NBR

o == 1z \ER @ @25 Azl YCQW—-25-PS

® IAE 2C EtAZH Az 92532 ® 932 M2l YCQW-32-PS mAEZ

- - 2Cmz
@ oAE U201 B3 AZH0IE ® @40 A2iH YCQW-40-PS EE?-MJTTPO'
oAE I
122 0 NER %) @50 AlzIty YCQW-50-PS
©) opay RUBBER
PSEI AR

o s yer 763 A2l YCQW-63-PS

@ ocaix 22 e ©) @80 A2l YCQW-80-PS

® DAE J}AH NBR © @100 Al2Ig YCQW-100-PS

www.ypc.co.kr 151



¢ 420 Xk

> 7[2S(XH HILIES, LI
YCQW 2A-@12, 316, @20, 325-D

2D
o)
<
&
w\
|
T
2.

4—@N Hole

L B+Storke L+Storke,
8-00 A+2(Storke)
01 otct ) .
2=t Tap Dimension
} i EBUZ | O R
‘ ] 012 | M4x07 | 10
S~ 216 | MAx07 | 10
R R @20 | M6x1.0 | 17
@25 | M6x1.0 | 17
B+Stroke

YCQW 2A-@32, 340, 350, @63, @80, @100-D

Q_ Q_ P(PT)
&
{ REE { O G —¢
mﬁ?&
K 4—@N Hole L B+Storke L+Storke
M 8-@30 A+2(Storke)
E J
o1 QI Tap Dimension
[ 1 seE[  of R
L ] @32 | M6x1.0 | 17
N — @40 | M6x1.0 | 17
LR | _R | 250 | M8x1.25 | 20
263 | MIOx15 | 20
B+Stroke 280 |M12x1.75| 25
2100 [M12x175] 25

gy | “SE2EH A | B [gD|E| H |C|@|u|K|L|M[N| @O P |a|z

o2 | . [s2[22]6 25 wax0s [6 ][ -5 [s5]i55[a5] e50pe [ wx08 [75] 7

916 33 | 26 | 8 |29 Maxo7 |8 | - |- |6 [35|20[35| 650P4 | m5x08 |8 |7

o20 | | 26 [10]36] m5x0s |7 |- [ -8 |a5less[55] oop7 | wsx08 | 8|74
925 30 | 20 [ 1240 mMex10 [12] — | - [10] 5 [28]55] oor7 | M5x08 [95]78
o | [a45]%05] 1645 [uexi125] 1360 45 14| 7 [34]55] oop7 /8 | 1014
940 54 | 40 |16 |52 [Mex125| 13|69 5 [ 14| 7 [40[55] opp7 18 |115] 14
050 565 405 | 20 | 64 | M10x 15| 15 |86 | 7 [ 17| 8 |50 /66| 110P8 | 14 | 1119
oes | o[8[ a (207 mroxis]1s[ros] 7 [7] 8 [e0[ o[ 1avpros [ 114 [14]10
080 71 | 51 | 25| 98 [ miex20 |21 [132] 6 |22 | 10| 77| 11 [1750P135] 3/8 | 16|26
2100 845 | 605 30 [ 117 M20x25 | 27 [156] 65 27 | 12 |94 | 11 [1750P135] 3/8 | 23| 26

152 YPC



wy ooy 2=-22c YC(D)QW
o A2 A=
= = A
> 7|2&(XHM HILHEE, KLIA
YCQW 2A-@12, @16, 320, @25-DM
B Q Q PPT)
H1
, 2-MM
> NG
A o — 3’,
=W 125—4 % 4‘E I
. |
ct| |_ci
4—@N Hole X X
8-00 L1 B+Storke L 1+Storke
A14+2(Storke)
o1 OFE-I‘ . .
STt Tap Dimension
} 1 EETERY R
I . @12 | M4x07 | 10
S~ 216 | M4x07 | 10
R R @20 | M6x10 | 17
@25 | M6x10 | 17
B+Stroke
YCQW 2A-@32, @40, 350, @63, @80, @100-DM
Q_ Q_ P(PT).
HL
2-MM
' —\
T N 110
w R\ € W
/ —/
C1 C1
X X
4-@N Hole L1 B+Storke L1+Storke
8-@0 A1+2(Storke)
of QI Tap Dimension
FELE 01 R
I | 232 | M6x10 | 17
~_ | 1 240 | M6x1.0 | 17
050 | M8x 1.25 | 20
R R @63 | MI0x15 | 20
B+Siroke 080 | M12x1.75| 25
@100 |[Mi2x175] 25
suuyy ([ “SE2EH A1 | B (gD E[F| MM |C|@|J|K|M|N @0 P |a|z|ct|x|Lt|H| B
o2 | . |2]252]6 2545 M5x08 |6 | -|-[5[165[35] 650P4 | M5x08 [75]7 | 9 [105[14] 4|8
216 57 | 26 | 8 [20]4a5| Mex10| 8| -] -]620[35] 650P4 | Ms5x08 |8 [ 7 [10]12]155] 5 |10
020 | |63 2 [10]36]|5 |mex125] 7 |- |-]8[o5[55] 90P7 [ WMx08 |8 [74]12]1al185] 5 |13
@25 74 | 29 [12]a0] 5 [mox125] 12| - [ - [10]28[55] 9op7 | msx08 |95]78] 15 [175[225] 6 | 17
0% | . [875]305]16 45|55 miax15]13]60[45]14] 34 55] 90P7 18 | 10| 14 [205[235|285] 8 | 22
240 97 | 40 [16|52] 8 [miax15]13|69] 5 |14 |40][55] apr7 178 |11.5] 14 [205[235285] 8 | 22
@50 107.5] 405 | 20 | 64 [105| M18x 15| 15|86 | 7 [ 1750 [66] 11DP8 14 |11 ] 19| 26 [285(335] 11 | 27
063 | o |109] 42 [20[77 [105[Mi8x15] 15108 7 [17 60| 0 [ 1aDP105 | /4 [14[19]26 [285[a3s| 11 | 27
@80 138 | 51 | 25| 98 125/ Me2x 1.5 | 21 [132] 6 |22 | 77 | 11 [1750P 135 3/8 | 16| 26 |325]355[435) 13 | 32
3100 1475|605 | 30 [117] 13 | M26x 1.5 | 27 [156| 65| 27 [ 04 | 11 [175DP 135 3/8 | 23 | 26 |3253555]435] 16 | 41

www.ypc.co.kr 153




o ARIC| FRE

> 72X LT, LI
YCDQW 2A-@12, @16, 920, 325-D

2D_
oy
<

&)
N4
|

4~ @N Hole L. B+Storke _|L+Storke
8-00 A+2(Storke)
01 ot} . )
2 Tap Dimension
! % SELZ 01 R
@12 | Max07 | 10
N~ ) — @16 | M4x07 | 10
R R 320 | M6x10 | 17
225 | M6x10 | 17
B+Stroke
YCDQW 2A-@32, @40, @50, @63, @80, @100-D
Q_ Q_ P(PT)
G
ST { B — &
el
N
K 4- @ N Hole L B+Storke | +Storke
M 8-@0 A+2(Storke)
E J
o1 QI Tap Dimension
[ 1 EETE R
! { @32 | M6x1.0 17
NS~ N — @40 | M6x10 | 17
R R @50 | M8x 125 | 20
263 | MI0x15 | 20
B+Stroke 080 |M12x1.75| 25
2100 |M12x1.75| 25
e ﬁg(ﬁ)'é‘*' A | B |oD|E H clo|u|lk|L|IM|N 30 P Qlz
012 | . 3943416 /25| M3x05 |6 |- |-|5|35/165[35] 650P4 | M5x08 |75] 7
216 43 | 36 | 8 |29 | M4x07 | 8| - | - | 6 [35|20(35| 65DP4 | M5x08 | 8 | 7
20 | . | 47138 |10]36|M5x08 |7 |- |- |8 |45(%55/55] 9DP7 | M5x08 |8 |74
025 49 | 39 |12 40| Mex10 [12| - | - |10| 5 |28[55| 9DP7 | M5x08 |95|78
032 | .o |545/405] 16|45 |M8x125] 13|60 45| 14| 7 |34]55] 90P7 18 | 10|14
340 64 | 50 | 16 |52 | M8x125 |13 |69 | 5 | 14| 7 [40|55] 9DP7 18 |115] 14
@50 66.5 | 50.5 | 20 | 64 | M10x15| 15|86 | 7 | 17| 8 | 50 | 66| 11DP8 14 |11 ] 19
063 | . o L3152 | 20|77 [MIOx15] 15103 7 |17|8 |60] 9 |14DP105 14 | 1419
280 81 | 61 | 25|98 |Mex20] 21 |132] 6 [22|10] 77| 11 |1750P135] 358 |16 26
3100 945|705 | 30 [117| M20x 25 | 27 [156| 65| 27 | 12 | 94 | 11 |[17.5DP 135| 3/8 | 23| 26

154 YPC




=

2 ooizen s5-92= YC(D)QW

¢ 420 Xk

= =y A
> 7|2 (XA LHE, LAY
YCDQW 2A-@12, 316, 320, @25-DM
B Q_ QPP
H1
, 2-MM
% —
S A
) I N S| R — @
o b
4—@N Hole X X
8-00 L1 B+Storke L 1+Storke
A14+2(Storke)
o1 . .
Tt Tap Dimension
1 1 EBUZ | o R
I ] @12 | MAx07 | 10
S~ 216 | MAx07 | 10
R R @20 | M6x1.0 | 17
@25 | M6x10 | 17
B+Stroke
YCDQW 2A-@32, 340, 350, @63, 380, @100-DM
Q_ Q_ P(PT)
H
2—MM
' —\
1 g }, v amnl
w R\ € W
\— —/
C1 C1
X X
4-@N Hole L1 B+Storke L1+Storke
8-@0 A142(Storke)
of okt Tap Dimension
S84 01 R
I i 232 | M6x10 | 17
~_ | 1 @40 | M6x10 | 17
@50 | MBx125 | 20
R R @63 | MiOx15 | 20
B+Stroke 080 |Mi2x175| 25
2100 |Mi2x175| 25
Eyz ﬁgﬁ)ﬁ"*‘ M| B|eb|E|F| MM |cl@|J|K|M|N @0 P Q| z|ct|x|L|H|B1
o2 | . |604][324] 6 |2545] M6x08 |6 |-|-[5[155/35] 650P4 | M5x08 [75] 7 |9 [105/14] 48
216 67 | 36 | 8 |20 45| M6x10 | 8 | -] -|6 |20]35] 650P4 | M5x08 | 8 | 7 | 1012 [155] 5 [ 10
020 | | 75|38 10]36]5 |mxi25] 7 |-|-[8[255/55] 90P7 | M5x08 | 8 |7.4] 12|14 ]185] 5 |13
025 84 | 39 [12 40| 5 [Miox125] 12 = | = [10]28]55] 9or7 | ms5x08 [95]|78] 15 [175]225] 6 | 17
o | . 9755 16]4 55| miax1s]13]60 45| 14|34 ]|55] 90P7 1/8 | 10| 14 |205|235]285] 8 | 22
340 107 | 50 |16 [ 52| 8 [Miax15]13|69] 5 [14|40]55] 9pP7 178 |115] 14 [205|235]285] 8 | 22
@50 1175|505 | 20 | 64 [105| m18x15] 15|86 | 7 [ 17|50 [ 66] 11DP8 1/4 |11 ] 19| 26 [285[335] 11 | 27
063 | .o | 119] 52 [20[77 [105[Mi8x 15[ 15 [108] 7 [17[60| 0 | 14DP105 | 1/ [ 141926 |285[385] 11|27
@80 148 | 61 | 25| 98 [125| M22x 15| 21 |132| 6 | 22| 77 | 11 |1750P 135| 3/8 | 16 | 26 [325(355(435] 13 | 32
@100 1575|705 | 30 [117] 13 [ M26x 15 | 27 [ 156 65| 27 | 94 | 11 [1750P 135| 3/8 | 23 | 26 [32.5/355[435] 16 | 41

www.ypc.co.kr 155



